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- &5 60,2403 x4H 12 2,892
— g 60,2402 »4H »x2 A 482
—EEZ4UEE) 17,832,000 *14% 2,497
OREAXNL M) M 5 HEX=(0HA
¢, otolH) 10,097
—Jl=s 60,2403 x6F 14 5,061
-5 60,2403 1.5 x6H 7 3,796
—-BEZ(4UHEE) 8,857,000 »14% 1,240
201 £B-2dH| 229,910 228,060 1,850
01 At 22l 23,170 33,170 A 10,000
OFAEH 7 ¥ 4 120,000& x 105 * 13l 1,200
OMdDl e & 23 222 MH
250,000 x2E *23| 1,000
QHIIZ2+=H 2R= +2 150,000& 11 1,650
OMYII=H SE2R(FY S)=4|
7,000& x6H 60 2,520
OHIIZE MelAld 22X M2 HLgES
100, 000& x9H 900
OFALAZTAX MZE 2 (AT S)
200,000& 122 2,400
O8AER HII=2 2cl=H &I #&
90,000& *50H 4,500
OSA2E HIIS 442 UREE(F) NE
50& *30, 0004 4,500
oozt Ii=Je 23 300,000& *33| x5CH 4,500
02 =224l 206,740 194,890 11,850
O Xl 188,050
— HAXS(120H) 1,300& %304 *12CH*300 140,400
— XZ(1CH) 1,300 *304 *1CH*150€d 5,850
— ZHI(ESH, XIAHX)
1,300& 204 *3CH*100 7,800
— X, FH FHRA L ARE FA(17H)
2,000,000& =17CH 34,000
OEEZ(HJIAAM, HSXHAM Z&)
1,000,000& 17 CH 17,000
OJIEIS33(#FNERL2)
65,000 »13CH »23] 1,690
202 o4dl 18,240 18,240 0
01 = LH o4 1l 18,240 18,240 0




EM: ZAISAY
HE: NS MBHY TH
S Mo FE E HEE (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OsSAEMY Il REXMel 25
24,0003 «2H 15 123 8,640
OMEMYy I Ml Z2UHoEI(2EX)
10,0003 «8H 10 « 123 9,600
206 M= Hl 70,800 70,800 0
01 =8l 70,800 70,800 0
OJlzdx & 33& PPEN M
800& =6, 0000H 4,800
OMYUJIZBEM #ESE HE(6T)
250& *22,0000H 123 66,000
303 Z& = 2,100 0 2,100
01 Z& 3 2,100 0 2,100
OMEES(I=HIIE8) =% 2= Y A& 2,100
— 2= 1,000,000 15 & 1,000
-2 = 500,000 1S5 500
& 300,000& 25 ™ 600
307 21201 A 260,500 185,500 75,000
05 QI & 3 260,500 185,500 75,000
OSAEF HII= XMl
125,000& *1, 100 137,500
OMEJl HIEXE HZ22 A (I7HA)
25,000,000 * 101 & Xl 25,000
OZsHIIS(BPAZE )™Ml 230,000& *100€ 23,000
OgsHIIS =H= HIIE Ml
250,000& =300 75,000
401 Al HI & 28I 40,000 25,000 15,000
01 A& HI 40,000 25,000 15,000
OMYIl BHEXE B4 &L 22 (g, &9,
*=3) 500, 000& 207K 2~ 10,000
OMddl HEXE M 2,500,000 » 1204 2 30,000
405 RHoHE S HI 9,000 9,000 0
01 AL ESFHSH 9,000 9,000 0
OMEES 2el=HEJI(BBER)
300,000& *30% 9,000
SEHHYE =HEAZ A& 75,000 75,000 0
= 10,697
< 12,569
s 51,734
301 L2 LS 75,000 75,000 0
= 10,697
< 12,569
s 51,734
11IIEtEA S 75,000 75,000 0
O=HIEXAY 75,000




EM: ZAISAY
M NG MEBEE X4
S Mo FE E HEE (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— HHEY =Hd X& 100& 750, 000kg 75,000
= 10,697
< 12,569
s 51,734
=85ty &= A& 40,000 0 40,000
=2 8,000
[ 32,000
401 Al HIZ 201 8] 40,000 0 40,000
=2 8,000
e 32,000
01 A& HI 40,000 0 40,000
O=HIEXZ ALY 40,000
— 3385t 44Xl 8,000,000 *5H 2 40,000
= 8,000
[ 32,000
HIIE2 HM2lAlE 2,414,314 1,405,157 1,009, 157
= 706,000
e 1,708,314
HII2 MelANE 29 632,812 545,292 87,520
101 @124 Hl 85,773 60,700 25,073
03 RIAHAZZ2 T E =+ 1,050 0 1,050
OBLAUBAMA OISH(HES 48 S2A)
150,000 7 x 13| 1,050
04 IIZH2RES S 84,723 60,700 24,023
oXgll & Heass 48 84,723
—Jl=s 60,2403 x5 x200 60,240
- &5 60,2403 x5 x29 8,735
— i< 60,240 x5% 9 2,711
—EEz4Ued 71,686,000 x14% 10,037
— 2+AlH| 3,000 x5 200! 3,000
201 LBt | 272,988 243,100 29,888
01 At 22/l 212,588 167,100 45,488
OHII2 XMelA4 b =&l
7,0003+7H %1002 4,900
Olg® =5 2 FXAZY I Xz 86,088
— =4 608,000& 93| x12& 65,664
—gZEH 851,000& »23| x12& 20,424
OWEAE g HIAM A2 (HIIS
22 Y) 32,800
—&dE=> 350,000 44 A+ 12 16,800
— Xl ot== 250,000& 12K A %4 3| 12,000
—NE= 500, 000& *20H 2~ x4 3| 4,000
OAE2ZEZ AL (0I2,H3) AE22USE
ZA 22 (HIIS22Y) 46,800




BMN: SAEHEDL
HMu: e MBHZ TA
SRl HIIS HelAg (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
— &os8 =2 6,000, 000& *2IH A x13] 12,000
—HEHII=ES 24 1,200, 000& *6IH A~ % 13| 7,200
—&ES 350,000& *20H A~ 43| 2,800
— Xl ot 250, 0003 *6H A~ *4 3] 6,000
— NE= 500, 000& *4 Il A~ x4 3] 8,000
—EA2AT XA} 1,200, 000& *8M A~ *13] 9,600
—HEAIE JIAES 300, 000& x4 2~ x13] 1,200
OHJIZH2ANE 228 2 100,000& x44H 400
OHJIZ2 HEAIE HIIHA 26,000
—AMRIHEAIA 6,500,000& x13] 6,500
—JIZHEAIA 14,300,000& *x 13| 14,300
—2A&HII2 Mg 5,200,000 13| 5,200
ORoHHIAIAE MHUHAZ 950,000& 128 11,400
oy &g CCTV ¢ xt= 350,000& ~12& 4,200
02 533294l 60,400 76,000 A 15,600
OHIIS(HE, MEE)ANE 2322 HA
3,500,000 x12& 42,000
Ost=2HII S8 (HIIS22l Y H58%E22)
5 2,000,000 13| 2,000
OAEHH XU (Y, MESAIL)
500,000& 105 *13] 5,000
QHIIZSE M2l A2 (HHls S)
1,900& 204 *3=+100L 11,400
206 M = dl 74,100 70,700 3,400
01 X2 bl 74,100 70,700 3,400
OoMgas4de A28 22 100,000& x105*43] 4,000
OME=2E £E282 HgEIY FL(1ER)
10, 000& 50004 5,000
OHJIZ HEBAE 2EN #¢
2,000,000& *53| 10,000
OPETE =D 285 24 7Y 2,500,000& x1&E 2,500
QHIISHMEIAIY HAAZT(AEH 14 )
30,000& *200S 6,000
OUEAIE €5H FL(LHMHE 204 )
60,000& 100 6,000
O&&E4 HelAE dERA (MR, IE) 23,600
— PAC(HAH)-D|=DHE & 450,000 x10E 4,500
— HiBPHCS( 2 Ab)-AI O & 250,000 «30E 7,500
— Dt ACH( A 300,000& x12& 3,600
— G H2E (HA 200 /) 15,000 x120= 1,800
— AMG (2L 20kg/E) 20,000& *60 & 1,200
— EHAMEIE (29 20kg/E) 20,000& =100 2,000
—EF5E AdFHNHE S HE 4,000& *500kg 2,000
— RO A ALIE S (A 20,000& *x50& 1,000
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2M: SAEZD
HMu: e MBHZ TA
S HIIE MelAl4 (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OB48 202 79(¥Z, 0123 5)
1,200 «50H 230 13,800
OHJIE MelAMe EA &7 7Y
300,000& *43| 1,200
QHIISHMel AN HoYZE 2 (3EX &)
500,000& *43] 2,000
401 Al HI K 201 I 188,951 120,792 68, 159
01 A& HI 187,600 120,000 67,600
OHYIE MelAME SRASIAE U=
147,600, 000& 14 147,600
O(MRA,IIE=)EAIE 2= 20,000,000 *13] 20,000
OMgs dEAE Ex(2FI] S)
2,500,000& x2& »23| 10,000
OHJIZE MelAlZ W &dl =&l
5,000,000& »23| 10,000
03 A& =TI 1,351 792 559
OHIIZE M2AIE ASFE AL
187,600,000& *0.72% 1,351
405 RHoHE S HI 11,000 40,000 A 29,000
01 AL ESFH SH 11,000 40,000 229,000
OgEYA FY(MHEESE L 22 22 -0l
5) 5,500,000 »2CH 11,000
HIIE A2AAME 29 772,502 859,865 A87,363
101 @144 Hl 93,123 226,321 A 133,198
03 RIAHAZ 22+ 4,900 0 4,900
OB AESALA HIISA2AIE Ast HOLA
24 95,0003 x 10 2 1,900
OLZANER2E 224 LIS
250,000& x6H *23| 3,000
04 JIZHHZ2XREES 88,223 226,321 A 138,098
OL2AE 23 76,145
—JlZ2s 64,3203 x2H 250 32,160
- =54 64,320 x2H 502 6,432
— QX 64,3203 x2H 15 1,930
—opaesy
8,040 «2H «B0O Al 2t 12 x50% 7,719
- z}224g
8,040& x2F x50 Al 2+ x 123 «150% 14,472
—S2A2ISM HRLY(AAHESEde] 2
el)=¢ 100,000& »2H 128 2,400
i =R 40,0003 x2H 128 960
— 2+AlH| 3,000 «2&x10€ «12& 720
- BEE4UEE) 66,793,000 *14% 9,352
OA2AE 2g JI2H22X AZE A
250,000& x2H 500
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S SAEZ
M NG MEBEE X4
S HIIZS HelAl& (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OA2ZANE 8 JI2ZMI2 2K E2 S (3804
64,320 2% 90 11,578
201 B9 432,640 422,172 10,468
01 AFR2 2t 2| H| 53,400 48,400 5,000
Oa2 HAMM HIIS2 Mel /g =2
200,000& x125& 25,000
omlIg X 58 /A =42
500,000& x52== 26,000
OAa2ZAE AIREE 7Y 200,000 x123] 2,400
02 B232%H| 379,240 373,772 5,468
QHIIS (A2, HE , HEZ)ANE 2222 HA
13,500,000 12 162,000
OFIIGHEAAL =22 (=HEH HIIZA &
SANEB) 700,000& x12& 8,400
OM4Z 23 (Y24, ¥EBL S)
500,000 «12& 6,000
OAd AIAEA(BS)s & ESEHY HAH)
L2 900,000 *23| 1,800
OAgtordze] 2= 180,000& 12& 2,160
OAa2ANE 89 |FH| 1,700,000& ~12& 20,400
OB =2 A S 1,500, 000& 43| 6,000
O2IJI2=D| KANES 3,000,000 *23| 6,000
OA2tAIE A& EH SX4H 1,000,000 12 12,000
OHIIS A2aels s2I| K22 £242(
HIZAA L RIABZ%) 200,000& x12& 2,400
OA222 JIHAEH IJsey 2
300, 000& 63| 1,800
Oa2tz JIHEH B AR2E 2¢
1,000, 000& 43| 4,000
OALNE CHOISA 2T 242(2YSFDs
A 222 JI=F) 6,000,000& *13] 6,000
OEDY £FMAH tdE8E & WHE RY(H
Jjotd e X A2 DAl 2016.7.28)
1,000,000 33| 3,000
OHJIZ A2ZAIE HEYH ESCOAMY Jel=
A & 11,440,000 x12& 137,280
202 04| 1,440 1,440 0
01 2L I 1,440 1,440 0
OBEIZANL(A2AZ S) YLET L A
60,000& *4H *63] 1,440
206 M = Hl 21,700 21,700 0
01 X2 HI 21,700 21,700 0
AAANE 29 2E 2 19,900
—BHOE DEE AN (2Y 20kg/E)
20,000 x50 1,000
— F=HABISE HMH AMZ 500,000 x128 6,000
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2M: SAEZD
M NG MEBEE X4
Sl HIIZ MelAld (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 328 24 1,500& *3,000kg 4,500
—OoIs2d NHE =2E4dE
500,000& »12& 6,000
— 2 F2AH 50,000& 30 1,500
—0l2ua=X 3,000& *3004 900
OA2AE HNMEE U188 YEOAT, &
= 5) 300,000 6 1,800
401 Al HIZ 201 8] 223,599 186,332 37,267
01 A& HI 222,000 185,000 37,000
OX2ANE RA.E= 15,000, 000& 12/ 15,000
OA2=Z SgEy OUE WA (&EAM)
52,000,000& =13l 52,000
O4A2Z WS 14 22 24
40,000,000& %13 40,000
oAz g A 75,000,000& 13l 75,000
O222 A28 WH(EMNEE S)
20,000,000& *13l 20,000
OmMIl |X - 2= 20,000,000& =13l 20,000
03 Al 2 THHI 1,599 1,332 267
OHIIE A2AE AIHFE AR
222,000,000& *0.72% 1,599
ST HIISHEAE SEAY 1,009,000 0 1,009,000
= 706,000
[ia 303,000
401 AIEHI L 2 CHYI 1,009,000 0 1,009,000
= 706,000
[ia 303,000
01 A& HI 1,005,380 0 1,005,380
O=HIEXZ ALY 1,005,380
—HJI2 HEANE SEMY
1,005,380, 000& 14 1,005,380
= 706,000
s 299,380
03 Al 2 THHI 3,620 0 3,620
OZHIEx= AL 3,620
—HIIZ MHEAE SEAY
1,005, 380,000& *0.36% 3,620
WEHES(TASED) 5,439,115 3,552,000 1,887,115
WEHHX S 5,439,115 3,552,000 1,887,115
AH HES 5,439,115 3,552,000 1,887,115
701 JIEtEI HESEES 5,387,115 3,500,000 1,887,115
01 JIEteI HE =2 5,387,115 3,500,000 1,887,115
O+=ZMNLSEIHN HES 5,387,115,000& 5,387,115




SH EABED
ol RS (SASYD)

e LHEHHX S (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
702 1282 52,000 52,000 0
o1 0I=2ds2 52,000 52,000 0
OHIIE2XHeANYE =HIEXNKAI2(MrAIIEE
O 2HEHOH o4 O 10%) 37,000,000 37,000
O=AZNHUIIIZ2 8353 (=4+2, JEHI2 £
o) 15,000,000& 15,000
HESHAY (ZAISHDY) 131,944 129,712 2,232
Jl2 &l 131,944 129,712 2,232
Jl2&Hl 131,944 129,712 2,232
201 et 9| 69,424 67,792 1,632
01 AR 22l ] 69,424 67,792 1,632
OBAN=ZNH 1,831,000 x32H 58,592
O=3&H| 5,600
— EZ20H4H| 7,000 x32% x5! 5,600
O \PIEPN 5,232
— Z A S A 286,000 x1CH*x12& 3,432
— S E A 150,000& x1CH =12 1,800
202 o4l 57,600 57,600 0
01 2Ll 57,600 57,600 0
O2tU o4 vl 100,000& 32 x12& 38,400
O22 0 H| 75,0008 323 x8! 19,200
203 R F & 4,920 4,320 600
04 EASHEYRFAH| 4,920 4,320 600
OBNM2g9Ig2=&| 410,000& «12€ 4,920
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